WILDRIDGE@ ASSEMBLY INSTRUCTIONS

PURVEYORS OF QUALITY POLY FURNITURE HERITAGE CHAISE LOUNGE LCC_160
330-893-4212 « www.wildridge.com

Required Tools:

- Mallet/Non Marring Hammer
(Do not use Metal Headed
Hammer)

- Cordless Drill

- #2 Square Drive bit

-1/2"and 7/16"Wrench or
Socket

-Tape Measure

Hardware:

-(8) 1/4"x 3" Bolts

- (12) 1/4" Flange Nuts
-(12) 1 1/4” screws
-(2)5/16"x 3" Lag Bolts
-(2) 5/16"Washers
-(4)1/4"x 2 1/2"Bolts

Parts:

A = (1) Seat Assembly

B = (1) Back Assembly
C=(1) Back Leg Assembly
D = (1) Front Leg Assembly

Step 1 Step 2
Attach the front leg assembly (D) to the underside of the seat Position the back leg assembly (C) against the seat assembly keep-
assembly (A) below the 5th, 6th, & 7th slat as shown with (6) 1 1/4” ing it flush with the top as shown and 7” in from the back end of

screws, 3 on each side. the seat assembly and fasten with (6) 1 1/4” screws, 3 on each side.
©2017




WILDRIDGE@ ASSEMBLY INSTRUCTIONS

HERITAGE CHAISE LOUNGE LCC-160

RVEYORS OF QUALITY POLY FURNITUR

330-893-4212 « www.wildridge.com

Step 3

Position the right arm rest (E) against the right side of the seat
assembly as shown and fasten with (4) 1/4”x 3" bolts and (4) 1/4”
flange nuts. Repeat with the left arm rest (F) on left side of the
seat.

Step 4
Attach the back assembly (B) to seat assembly using (2) 1/4"x 2
1/2"bolts and (2) 1/4"flange nuts, one on each side.

Step 5

Next place the adjustable back brace (G) in between the two back
supports on the rear side of the back assembly and attach it on
one side using (1) 1/4”x 2 1/2"bolts and (1) flange nut, repeat on
other side.

Step 6

Attach one of the wheels (H) on the outside of the back leg assem-
bly using (1) 5/16"x 3" lag bolt and (1) 5/16” washer. NOTE: Place
the washer on the bolt and thread it thru the pre-drilled hole.

Do not over tighten or the wheel wont spin, repeat on other side.

Step 7
Your chaise lounge is now complete.

Thank you for purchasing from Wildridge.

©2017



